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No Excuses


DNA Modeling Lab

Watson and Crick are credited with discovering the shape and structure of DNA.  Knowing the way that it is put together is key to understanding how it can be copied without too many errors.  

In class today, you will make your own model of DNA.  Each will consist of FIVE nucleotides.  We will not be making the backbone.  Instead, we are simply going to represent it using a pipe cleaner.  The nitrogenous bases will be assembled as shown below.  Normally they are held together by very weak hydrogen bonds.  We are going to represent those bonds using clear tape.  We will also use the clear tape to represent the bonds between the nucleotide and the backbone.  PLEASE WRITE YOUR NAME ON THE BACK OF YOUR MODEL AND ATTACH IT TO THE SLIP OF PAPER WITH YOUR SEQUENCE ON IT USING A PAPER CLIP.
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QUESTIONS TO CONSIDER WHILE DOING THE LAB

1. What makes up the backbone in real DNA?  Please draw this structure.

2. Is the distance between the two backbones (pipe cleaners) always the same?  Explain.

3. Compare and contrast one side of your DNA model to the other side.

4. Describe the role that each of the following had in the discovery of DNA: Griffith, Chargaff, Rosalind Franklin, and Watson and Crick.

5. What does DNA stand for?  _________________________________________________

6. What are the four bases?  Group them into purines and pyrimidines.  

7. Predict how DNA might be copied.  How might the structure help to make sure that it is copied correctly?

DNA LAB 

DNA Sequence 1

Please make sure that your model of DNA has the following sequence of nitrogenous bases starting at the top of the left hand backbone.
A---T---C---C---G

DNA LAB 

DNA Sequence 2

Please make sure that your model of DNA has the following sequence of nitrogenous bases starting at the top of the left hand backbone.
C---G---T---T---A

DNA LAB 

DNA Sequence 3

Please make sure that your model of DNA has the following sequence of nitrogenous bases starting at the top of the left hand backbone.

C---A---A---A---G

DNA LAB 

DNA Sequence 4

Please make sure that your model of DNA has the following sequence of nitrogenous bases starting at the top of the left hand backbone.

G---G---A---T---A
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